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/ Question 1- 35% of 180 + 45% of 120 -8806)of 8886-

T 3
= :i/L&’b i _
& >0 %XJ%
A. 7627
:g}\u\l:{ff_ i 65‘“&11\??%{ B. 6627
’(TZ/:‘— = ~‘HL\H+ Ik C. -6627
- - ~:F€Q:[~ P -7627

— E. None of these
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Question 2- A, B and C can do a piece of work in 24, 30 and 40 days
respectively. They began the work together but C left 5 days before

completion of the work. In how many days was the work done?
TS5 2- A, B 3T C Teh hH ! SHHIT: 24, 30 3T 40 T 1 T gehd 2|

378i- Teh |1 h1H Y& (AT Afehed C = 6 G0 8 § 5 o uecl Bie faam
T feha Te=T H 9 g3

A. 10.25 days
—B: 11.25 days

C. 13.25 days
14.25 days
E. None of these

=
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Question 3- 87 x 6.3 + V841 + 163+ 13.8 =7

2
2%
= [8:94 30 g 22;
= ﬁ? C. 487
i D. 53.7

_E— None of these
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Question 4- 12% of 5550 + 15% of 660 =?

<22 . 35;5
—% T%ﬁ xs%
< ¢ A. 1555
o+ 19 B. 1255
= 1\65 C. 1455
D. 1655

“-E— None of these
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Question 5- §0W2 +AR5 =2

| 9000

19315 11276
19276
13676
D. 11276

—E- None of these
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> 2 _ Jowo_ 3¢ A. 6000
7\0‘7(&}1 Q 00 B. 2000
- 16oaxg C. 8000
T -9 D. 7600
g MOHG of these

N
Question 6 48% of 7500 + 7% of 20 = 50% of 4000
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A
Question 7- 70/% of 1410 + 7% of 25 =55% of 2820 — 66

1
5 3@“%: Lyago- e

A. 2008
Y& L1 =185 |- 97 - 66 B. 1008
66 | X~ C. 2108
\(3 L1 =881~ o093 132 D. 1108
R —E-  None of these

5= R
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Question 8- 9.6 3.6 + 14.4 + 10.8 of 5/12 =2

9
= 1324445 yioq

i g
_ A 221
= Q764 45 2o
= Ry C. 11.1
p. 3.1

E. None of these
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Question 9- 95% of 620 + x% of 480 = 70% of 810

19 3 a4
il S
9 5 \1:55 A, -11.1
%—: Q6F - 59 9 2 B -125
C. -34.
Rg%l: 22 | jj_ D. -4.55
N E. None of these
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Question 10- P can do a piece of work 1n 40 days and Q can do it in
24 days. On which date will they complete the work, 1f they work
together on prime number dates starting on 29th June?

T 12- P Uah &0 ol 40 T T o anaT g 3T Q 39 24 T U o Tehdl
21 IS o 29 S § IE & AT STHTST &A1 ATel! @ 9L Teh §ref H

A &, I of fohe TG o s 9 hidl? N

LB—"5 august
C. 23june

D. 5 July
E. None of these
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e

O P-4 29 Ine~y
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O—= 2,3,8,7 /,.!.\,ﬁ/ 3,931
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6+5) -2'.3/5,?
=] p
b SRy [ Ty

https://t.me/mathbytarunsirmepl



| ©SBICLERK 2023@

@ X Q’IO /_2/) 5@@@ (‘\7— ) Question 11- X2’—8x-20 = ()
y2+18y+77 = ()

\ﬂ?&t

A X>Y
B. x <Yy
C. x =2y
D.x <y

E. X =y orrelation cant be established/
https://t. me/mathbytarunsirmepl Geier LU Tai fohaT ST gehdT &l
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Olﬂﬁ f6+ )5—7 +& +L Puestlon 12- X -25x+144 0
y -14y—|—48 0

7Y
ATX>Y
B. x <y
C.xX =Y
D x <y

E. X =y orrelation cant be established/
https://t.me/mathbytarunsirmepl e TATUA ol [T ST Tkl =l
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Ol )Qr 4 >5( ﬂ%—é)Questlon 13- X%-10x+24 = 0

y -25y+1 14=20
0 F'd J

A X>Yy
B. x <Yy
C.x =2y

_LDx <y
E. X =y orrelation cant be established/
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Question 14- 2= 169

DX &) &5 Jow

J:Jé’ A X >
J(<i A=)
< =
d == 2§i§
(Dx <y

E. X =y or relation cant be established/

geier Ty =2t fora ST &kt 21
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Question 15- What approximate value come in
place of ?

99 15- ‘7"694'|7UT(3‘|-1H|HCI Hlj@aT@Tr‘?
12.92 + 4(- 3 18 X3.97)—(17.92 ==5.99) =?

= 13-H9_ 7%
~ A. -28
2&: B-38
C. -18
D. -22
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Question 16- What approximate value come in
place of ?

(@

94 16- ?Wq_(?rl"ll-lll"ld HlA 3:||Q]||)
er 550+ 1
10.02 + 5(ET8 X3:97) - (3599 +11.99) = 9

= (04120 -3
= \30\5 A. 20
- =
T D. 35
+E—None of these
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Question 17- 942+ 7744 - 16X5=2

= J83C+QQ- 80
Q\NIG = 083¢+9 A.7744
9 3% = 04y B.2244
— —€.8844

D.9944

E. None of these
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Question 18- A certain sum of money becomes 4 times of itself in 5
years. Find the reciev on a sum of money of Rs 20,000 with

same rate of interest in 2 years.

T 18- Tk I GRIMST 5 3t § 379 3719 | 4 T &1 St 21 20,000
FO hT TRT YL HHH TSI G ok €1 2 91 § Y6 W Hel hir|

"Wﬁ‘@WA Rs 14560
(@ 4 %6‘0/_ S
XY —

B. Rs 33460
Cl.= ¢
] &4(\ C. Rs 22360
% D. Rs 12360
/E./None of these
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O L&y | CT-3e= 156 gq0000
K= 300 =< 51200
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Question 19- A train running with a speed of 90 km/hr crosses a
person in 72 seconds. Find the length of train in meter.

T4 19- 90 Terwi/eier 3T T1fd W =et ATelt Teh ¢ Ueh S f<h ol 72 Hehe H

TR hTat =1 HieX | ¢ hl TS JTd shif|
Hm\* NS A. 1200 m
B. 1400 m
C. 1800 m
D. 1900 m

E. None of these
https://t.me/mathbytarunsirmepl
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Question 20- In how many ways letter of word RANDOM be

arranged.
T97 20- RANDOM ITs< & 3781 <kl Tehd adient O Fafed fepam sm
HhdT 27
Mol - A. 120
B. 340
C. 720
D. 440

E. None of these
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